TiEE (mm)

@KSHY6 X 4-[] @KSHY6 X 4C-[]
=
%
33.5 o ¥
29.5 < m =
. > 4
M6x0.75 |
.\\ i?_ 5 :4
| — 3 %7 s8s m—
t—— ‘
©y i
4 2| \2-#uh
78-1) =
I
w)
4
@KSHY8~20
- A -
B C
(ZhE-9)
D F K G _
>-
o8 : 5
g_—f—_ i |']vl f x
S —— I--} Ay L
0 Y .
! \
2—Fb |/ \‘\E
- R -
8.7 i C o
‘ A
— Y,
s = _ 7
I | : H
2Bl \E
(ZhO-7) o —
Bk &5 A | B c E F G H J K | L R S T
KSHY8 x 5(C)-01,-02 36 | 5 31 | Mgx0.75 | 2 10 | 15 | 25 3 | | 42 6 6.5 %
KSHY8 X 5(C)-11,-12 % | 5 31 M8 X 1 3 10 | 115 | 25 3 | 7 | @ 6 6.5 7]
KSHY10x6(C)-01,-02 | 46 | 6 40 M10 X 1 3 12 | 139 3 5 | 85 | 55 9 8 X
KSHY12Xx6(C)-0102 | 50 | 6 44 M12x 1 4 14 | 162 | 4 5 [ 105 | 60 [ 10 10
KSHY14 x 8(C)-01,-02 61 | 8 53 M14x1.5 5 17 19.6 5 5 [ 12 | 72 1 11
KSHY16x8(C)-01-02 | 61 | 8 53 | M6x15 | 7 19 | 219 5 7 | 138 [ 7 11 1
KSHY20 x 10(C)-01,-02 69 | 10 59 M20x 1.5 8 24 27.7 6 7 17 | 84 15 15
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